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(1) Question No. 1 is compulsory
(2) Attempt any four out of remaining six questions.
(3) Assume suitable data with proper justification.

a) Describe different modes of ARM7

b) Draw and explain CAN frame format.

¢) What are the functions/roles of RTOS in a system

d) What is significance of design metric in an embeded system design ? ?

a) What is black and white box testing? Compare.

b) Explain modifiers in ¢ and their usages in an embeded system.

¢) Compare Assembly and C-programing,

d) Compare different kind of memory like EEPROM, FLASH, RAM, OTPROM.

a) Draw an FSM/Petrinet for an ATM system.
b) Design a visitor counter system. Draw simple circuit diagram.
(component values not required)

a) What is priority inversion problem?
How unbounded priority inversion problem can be solved?

b) Determine if following tasks can be scheduled if scheduled according to their period
Task Period Execution time Dead line
T1 56 11 56
T2 28 4 28
T3 14 10 14

a) Compare MSP430 architecture with ARM7.
b) Describe exceptions of ARM.

Design an embedded system for robotic colouring machine. It should colour surface in
appropriate manner. It should sense viscosity of colour and add thinner accordingly.
1) Draw Block diagram represending hardware,
ii) Identify the design metric/constraints/challenges,
iii) Model the functioning of the system using FSM/Petrinet/Flowchart,etc,
iv) Select the components with justification, for the system.

Write short notes on

a) Inter task communication.
b) RS485 communication.
¢) System on Chip (SOC).
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Note :1) Question no. 1 is compulsory
2) Solve any four from the remaining six quesifﬁmb
3) Assume suitable additional data if HECGSSWP?.\?

trajectory of robots. :
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